POWER R\ CACR ELEERS EL TS
WHEELS

by Fisher-Price®

to Assembly Step 13!

We now include a #8 x 2'/:"shoulder bolt with pointed end
(attached to this sheet). Use this bolt for assembly step 13.
Please refer to the illustration below.

{] NN

Fork Post
Handlebar Front

Handlebar Back

3/4" Screw

J/
%
%
.
A
o ’,
e/
7

2'/." Shoulder
Bolt

3/," Screw

¢ Fit the handlebar front to the fork post.

Hint: The handlebar front is designed to assemble to the fork post one way.

* Fit the handlebar back to the fork post and handlebar front. Hold them
together firmly.

e First, insert the remaining #8 x /s" screws through the outer holes in the
handlebar back and tighten.

¢ Then, insert the new, pointed #8 x 2'/s" shoulder bolt through the center
hole in the handlebar back and tighten.

After assembly is complete, throw away the #8 x 2'/." fully-
threaded blunt end screw. You will not need this screw.

Fisher-Price, Power Wheels, and Power Wheels by Fisher-Price are U.S. trademarks of Mattel, Inc.
©2004 Mattel, Inc. All Rights Reserved. ® and ™ are registered trademarks of Mattel Inc.
Fisher-Price, Inc., a subsidiary of Mattel, Inc., East Aurora, New York 14052 U.S.A.

PRINTED IN MEXICO B8776pr-0921



